11°3 17"7 "o K, 72 M2 .7"0a

- 5919 77°8Y 11908 XN ;72 vAwT 190
Once he slaughters it a bit, it is prohibited, and the rest, etc.

Overview

The %713 is questioning the ruling of »" in a case where one stole an animal and had
it slaughtered for 7177 7712Y that he is liable for the 'm "7 payment. Seemingly as soon
as the animal began to be slaughtered it becomes forbidden to derive benefit from it
(it is 7"y n217PN) and so it no longer belongs to the owner.? The obligation of 'm '7 is
when the animal is completely slaughtered, however at that time it no longer
belonged to the owner, so there should not be any 'm '7 payments. mo01n challenges
and explains this reasoning.

n1voIN asks:
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And if you will say; by every case of slaughtering, he is also not slaughtering the
owner’s animal, for as soon as he slaughters it a bit, the thief acquires the animal
through ‘change’, so why is he 2n -

= NIY RD 2123 XM NN 29N 99N2 Tn95 DY NON
Rather perforce we must conclude that the ;790 obligated the '™ '7 payments in
this manner, so here too, by 1"V, it is no different! What is the s'x73 question?!

N1D0IN answers:
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And the >'""9 says that this bit of 7v° 1w is not considered sufficient change in order

!'In our N na the text reads, TR 1% 90N°R XN (instead of 77XY AMOK RNT1D).
2 Since it is X372 MOX, he is not considered the owner anymore; he cannot do anything with it.
3 The rule is that if a thief is caught, he must return the item which he stole. However, if he made a significant change
to the item, he need only to pay back the value of the item but not the item itself, since the thief ‘acquired ownership’
of this item through this change. For instance, if one stole planks of wood and made them into a cabinet, he may keep
the cabinet, but is required to return the value of the wood which he stole. Here too once the slaughtering process
begins, this change in the status of the animal should enable the thief to acquire the animal, and therefore it no longer
belongs to the owner when the thief completed the v nw (which is when the obligation for '™ '7 payments begin)
41t would seem that as long as by the initial v the animal belonged to its owner, one is liable for 'm '7, even though
that at the end of the nv nw, it no longer belongs to him (rather it belongs to the thief). Therefore, here too by 1"y, he
is liable for 'm '7, since initially it belongs to the owner. What is the s'%7n3 question?!
5 The animal still belongs to the owner until a complete and proper 7w nw is made. Therefore, the thief is liable for 7
'm. However, regarding 1"y, it becomes 1X3772 70X as soon as the v Y process begins and therefore at the completion
of the nv Y when the 21 of 'm '7 becomes effective; it no longer belongs to the owner since it is X172 70K, See
‘Thinking it over’.
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for the thief to acquire it in this manner.

Summary
A limited v nw is not considered change so that the thief acquires it.

Thinking it over
How are we to understand this which o910 says® that a partial v nw is not sufficient

change to acquire it?’

6 See footnote # 5.
7 See 2Py N7
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